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RF—: Wifk 25mLx1 i, 4°CIRAF.

WA Bxd 3, 20°CHRTE. IR RTIIN 250uL R 1 78 0 T i 4 Flls PR 52 AR AR 9 35 5 -20°C 1~ 17
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WA Bl i, -20°CHRAF. IEFRTANA 22.5mL R 71 78 0 M4 Fik PR 2 AROAR A7) 9 35 5 -20°C - 17
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RV Wik 30mLx1 i, 4°CIRTT,

TARIECH]: A E ARSI TAEMAR (REAS<0.92 m L), FFil5f = = AIVU4Z I8 1:1:90 fELG]
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ZEHES A FIREL:

1. BB RN Se SR T B BB 0 Y, B0 a3 RIS R B R SR (104>« i
F—#F (mL) 4 500~1000: 1 (FLEET CEIL 500 J4HEE sk 4Rl i TmL B350, #5875 i i e 40 B sl 4m
ML (UK, ThE 20%8k 200W, 7 3s, [AIFF 10s, 30 ¥X); 8000g 4°CE.0» 10min, M FiF, ByK L
Rrill

2. HA: WBHLAFE (g : RA—FHRmL)YN 1: 5~10 BHEH CRIIRENZ 0.1g HZ3, oA 1mL
Fl—), HHATUKIAIH . 8000g 4°CE L 10min, i, ByK LA,
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MESR:

1. BT 30min, FHZEM8/K T 340nm Abif .

2. B 920uL TAEWAI 100uL BEARE ImL AFELham, 84, SCEIHC 340nm 4k 20s FIWG{E A1 1 80s
BHIIROEME A2, 5 AA=A2-Al.

g A SEITH:
FRAESEAE T I E MIENE RN y = 1640x + 0.012; x AWIGIE, v NFRAERIE (nmol/mL).
FEE: AT SRS NR Y 1.6nmol/mL.
(D B ERETHE
LBR4HEE A 7 (nmol/mg prot)=[(1640xAA+0.012) xV1]+(V1xCpr)=(1640xAA+0.012) +Cpr
EFINE, FUEHARLA R BCA &AM & &I 5 &
(2) FZMREA TR
LBEHEE A & E(mmol/g £ 5)=[(1640xAA+0.012) xV1]+(WxV1+V2)=(1640xAA+0.012) ~W
(3) MR TR B P B
LB A 2 B (nmol/10%)=[(1640xAA+0.012)xV1]+(500xV 1+V2)=(1640xAA +0.012)+500
V1: MARBAERPEEARER, 0.1mL; V2: JIAIRBGEMAFR, 1mL; Cpr: FEAREFIKE, mg/mL;
W: FEARE, g5 500: SRS S5, 500 J5.



